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SECTION A – (10 × 2 = 20 marks)
Answer ALL questions
1. What is Financial Management?
2. What is capital budgeting?
3. What is meant by capital structure?
4. What do you mean by dividend?
5. What is meant by working capital?
6. Raj makes an initial deposit of `2,00,000 in Laxmi Bank Ltd. Interest is compounded at 10% p.a for 6 years. Compute the amount of maturity.
7. A project has an initial investment of `2,00,000. It will produce cash flows after tax of ` 50,000 p.a for six years. Compute the payback period for the project.
8. S Ltd issued 20,000 8% debentures of `100 each on 1st April 2009. The cost of issue was `50,000. The company’s tax rate is 35%. Determine the cost of debentures (before as well as after tax) if they were issued at par.
9. Find out degree of operating leverage from the following data:
	
	  `
	
	

	EBIT (2005)
	40,000
	Sales (2005)
	20,000 units

	EBIT (2006)
	50,000
	Sales (2006)
	28,000 units


10. B ltd has a total sales revenue of `120 lakh a year, of which 75% are credit sales. The firm has an       
         investment opportunity in the money market to earn a return of 18% p.a. if the firm could reduce its 
         float by 3 days, what would be the annual savings for it? 
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
11. Explain the objectives of financial management.
12. Describe the technique of ABC analysis and explain its merits.
13. X Ltd has a machine having an additional life of 5 years, which costs `1,00,000 and which has a book value of `40,000. A new machine costing `2,00,000 is available. Though its capacity is the same as that of the old machine, it will mean a saving in variable cost to the extent of ` 70,000 p.a. The life of the machine will be five years at the end of which will have a scrap value of `20,000. The rate of income tax is 60% and X ltd does not make an investment, if it yields less than 12%. The old machine, if sold, will fetch `10,000.  Advise X Ltd., whether the old machine should be replaced or not.
14. S Ltd a widely held company is considering a major expansion of the production facilities and the following financing alternatives are available:
	
	Alternatives (` In lakh)

	
	X
	Y
	Z

	Equity share capital
	60
	30
	10

	12% debentures
	-
	20
	25

	15% loan from a financial institution
	-
	10
	25


Expected rate of return before tax is 20%. The rate of dividend of the company is not less than 18%. The company at present has low debt. Corporate taxation is 35%. Which of the alternatives you would choose?
15.  The following projections have been given in respect of B Co :
	Output
	3,00,000 units

	Fixed cost (`)
	3,50,000

	Unit variable cost (Re)
	1

	Interest expenses(Rs)
	25,000

	Unit selling expenses(`)
	3


Calculate (a) operating leverage; (b ) financial leverage, (c ) combined average (d) operating break – even point, and ( e ) financial break – even point.

16.   The cost of capital and the rate of return on investment of R Ltd are 10% and 18 % respectively. The    company has 5 lakh equity shares of `10 each outstanding and earnings per share are `20. compute the market price per share and value of firm in the following situations. Use Walter model and comment on the results.
a) No retention
b) 40% retention
c) 80% retention
17.  From the following information extracted from the books of a manufacturing company, compute the     operating cycle in days: 
     Period covered : 365 days
     Average period of credit allowed by suppliers : 16 days

	
	         `

	Average total debtors outstanding
	4,80,000

	Raw materials consumption
	44,00,000

	Total production cost
	1,00,00,000

	Total cost of sales
	1,05,00,000

	Sales for the year
	1,60,00,000

	Value of average stock maintained:
	

	Raw materials
	3,20,000

	Work-in-progress
	3,50,000

	Finished goods
	2,60,000


18.  From the following information, calculate
(a)     Debtors turnover ratio

(b)     Average collection period

	
	         ` 

	Total sales during the year
	4,20,000

	Cash sales during the year
	1,50,000

	Returns inward
	20,000

	Debtors in the beginning
	55,000

	Debtors at the end
	45,000

	Provision for bad debts
	5000


SECTION C – (2 × 15 = 30 marks)
PART – A – Case Study – Compulsory Question 
19. The company is considering the purchase of a new machine. The management wants to buy the            machine only when its costs can be recovered in three years. The following information is available.
(i) Cost of the machine ` 4,50,000.
(ii) Sales revenue estimated per year by the installation of new machine is `6,00,000.
(iii) (variable cost is 60% of sales.
(iv) Annual fixed cost other than depreciation is `40,000.
Advise the management whether the machine can be purchased on the basis of three years recovery of cost.
Calculate the average rate of return on investment of ` 4,50,000 when the life of machine is 10 years with no scrap value at the end of the period. Assume 50% income tax. 
PART – B
Answer any ONE question
20.  Asin Ltd issued 15,000 12% preference share of `100, redeemable at 10% premium after 20 years. The floatation costs were 5%. Find out the cost of preference capital if shares are issued (a) at par (b) at a premium of 5% and (c ) at a discount of 10%.
21. S Ltd has 40,000 shares outstanding. The current market price of these shares is `15 each. The board of directors of the company has recommended `2 per share as dividend. The rate of capitalisation appropriate to the risk class to which the company belongs is 20%

(i) Based on MM approach, calculate the market price of the share of the company when the      

         recommended dividend is (a ) distributed and (b) are declared.

(ii) How many new shares to be issued by the company at the end of the accounting year on the       

assumption that the net income for the year is `1,20,000 and the investment budget is              `2,80,000when (a) the above dividends are distributed and (b) dividends are not declared.

(iii) Show that market value of the shares at the end of the accounting year will remain the same 
whether dividends are distributed or not declared.
——————
[P.T.O.]
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